












































































































Ext x 1 7 2 3

fits 2x 2 acts

x 3 2 acts

I 3 2
2x

3 2 9 6

x 65 11 6

Ex2 x x 3 oeta

x 3 seta

x 3
2

422 122C

x x 12k

Ex 3 2x 3 x a 3 1

25 3 8 12 3 1

2 2 5 12 3 1

Expanding Trinomials














































































































Go 155 36k
Zoe 5x t 12

6
3 13

2
41 12

Exercise Expand and Simplify

1 x 2 x 2 acts

2 x x 1 ate

3 x 4 x 3 x z

4 2 1 3 2 Rta

5 3x 1 2 16 5

Solutions

D
I c 2 2 4 xt3

I I ax 4 x 3

I x 4 2 tax














































































































3 2 12 12

I c 72 16 12

2

x x i octal

x x ate

x y

2 2 2x

x x 2x

3

x ax 3 12 x z

c Tx 2 x z

x 7 2 122
2 2 142 24

23 9
2
t 2622 24














































































































Goi 3x tax 2 x ta

65 7 2 xx

6 3
t 72 2x

2425 28 8

6 3 315 30 8

5

6 2 2x 3 1 acts

62 x i acts

Go x x

JON 52 5

6
3 31 2 4 5












This is the reverse process of expanding brackets

es 3 x 2 3 6

so 3 6 36 2

Examples

1 4 GE 262 35

2 3 3g 3 I y

3 8pt6 2 apt

4 10ptisq 5 p 3g

5 bag Be 3 25 1

6 2 52 x x 5

7 y'typ y ytp

8 pqtp'tpr p qtptr

9 I 22 x x z

Factorising



10 partqrt qr Ptt

11 154k tonk 5hk 3K 2

12 Ep tpt Ep p E
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